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UM a2 log 7 HYEF 7
(1) 10" =7

(2) (log7)* =7

(3) 7™ =10

(4) log7=Y7

DA M ar 5 & 1091000 2 1H ?
1 1
(2) 2
3) 3
4) 4

ANE{HERETEES > 55T DA N & 4T log 290 ?
1) 1
(2) 2
(3) 3
4 4

. 458 10g3=0.4771 » AL Ma[5 By log300 Z1H ?

(1) 47.71
(2) 0.9541
(3) 1.4771
4) 24771

HH5%x2=10 » DU ~ArE 2 log 2 #1log 5 HIRH % ?
1

(1) log5= @

(2) logb=-log2

(3) log5=1+1log2

(4) log5=1-log2

A H{log2=0.3 - AIILUT a2 Fy log 25 2 {H ?
(1) 0.49

2) 1.2

(3) 1.3979

4) 1.4



7. FH{log1.02=0.01 * log3.25=0.5 » HILL T {3 B (1.02)%% 7 {H ?
(1) 0.0325
(2) 051
(3) 100.0325
(4) 100.51

8. DU WHHE S 2T 2 = 25 19fi# 2 (#F log5 Eil log 2 R (% i E log2 = 0.3 = )
(1) 4.67
(2) 4.72
(3) 4.98
(4) 5.07

9. TA12* =10 - % 1og2=0.3010 - Al k AT LU Fb— (A 2
@ 7
(2)8
@) 9
(4) 10

10. A EE AR ER © —HFEH100x24 x60x60F) » 52 2° x 3° x10000F) -
BRI 10 ) Horh k B —(EIEEEE > Al k T DU N E S 2 (2
log2 =0.3010 » log3=0.4771 - )

1) 6
2 7
3) 8
4) 9

10 Y PHF T —FRREE T - FAREE 12% G HETE R o RHRERA
o Y PHUEAFAGEER - SR ERH B EEF RS (EEER) -
RIRE) %/ D% B kA USRS IR 2 (Hllog2=0.3 >
log1.12=0.05 + log1.01=0.004 )

(1) 64
(2) 384
() 754
(4) 100



